Sensitivity comparison

Comparison of the sensitivity reach of different long baseline experiments

given as the value of sin? 26013 at which 50% of dcp values will have > 30
reach for the choice of mass hierarchy with worst sensitivity. Total exposure
assumes equal amounts of v and v:

Beam Baseline Detector Exposure | 013 # 0 CPV sign
(MW.yr*) (Am32,
NuMI ME, 0.9° 810 km NOvA 20 kT 6.8 0.015 > 0.2 0.15
NuMI ME, 0.8° 810 km LAr 100 kT 6.8 0.002 0.03 0.05
NuMI LE, 0.8°, 3°, 810,700 km LAr 2 X 50 kT 6.8 0.005 0.04 0.04
WBLE 120GeV, 0.5° 1300km LAr 100 kT 6.8 0.0025 0.005 0.006
WBLE 120GeV, 0.5° 1300km WCe 300 kT 6.8 0.006 0.03 0.011
WBLE 120GeV, 0.5° 1300km WCe 300 kT 13.6 0.004 0.012 0.008




